Problem 1-Construct a decision situation described in problem below and indicates the best decision ONLY.
Fenton and Farrah Friendly, husband-and-wife car dealers are soon going to open a new dealer ship. They have three offers: from a foreign compact car company, from a U.S.-producer of full sized cars, and from a truck company. The success of each type of dealership will depend on how much gasoline is going to be available during the next few years. The profit from each type of dealership, given the availability of gas, is shown in the following payoff table.

Gasoline Availability 

                                

Dealership                  Shortage                  Surplus
                                                                                               .6                           .4
                                                Compact cars                    $300,000                   $150,000

                                                   Full sized cars                -100,000                        600,000





 Trucks                           120,000                        170,000

PROBLEM # 2
The Steak and Chop Butcher Shop purchases steak from a local meat packing house. The meat is purchased on Monday at $2.00 per pound, and the shop sells the steak for $3.00 per pound. Any steak left over at the end of the week is sold to a local zoo for $.50 per pound. The possible demands steak and the probability of each are shown in the following table: 

	Demand (lb.)            Probability
20                                       .10

	21                                .20

	22                                 .30

	23                                 .30

	24  .10
                                 1.00

	


The shop must decide how much steak to order in a week. Construct a payoff table for this decision situation and determine the amount of steak that should be ordered, using expected value. 

